

1. a) Any higher order ≥ 2 method is acceptable

Eg - Composite Trapezoidal has order 2 ($O(h^2)$)

- Composite Simpson rule order 4 ($O(h^4)$)

(5)

b) $O(h)$ in both cases

- can be expressed by points \bar{x}_i $\exists f(\bar{x}_i) = 0$

(10)

and also case \bar{x}_{i-1} \bar{x}_i are valid for a

c) $est = \sum_{i=1}^n |est_i|$

(5)

3

a)

$$(5) \quad z = \begin{bmatrix} y \\ y' \\ u \end{bmatrix} \Rightarrow z' = \begin{bmatrix} y'(x) \\ y''(x) \\ u'(x) \end{bmatrix} = \begin{bmatrix} z_2(x) \\ z_1'(x) + z_3'(x) \\ z_1(x) + z_3(x) \end{bmatrix} = f(x, z), \quad \bar{z}_0 = \begin{bmatrix} 1 \\ 1 \\ 2 \end{bmatrix}$$

1) one solution introduced $h(x) \equiv \int_0^x (y'(x) + u'(x))^2 dx$ do

$$\text{then } z_4'(x) = (y'(x) + u'(x))^2$$

$$= [z_2(x) + (z_1(x) + z_3(x))]^2$$

(15) with $z_4(0) = 0$

$\therefore \bar{z}(x) \in \mathbb{R}^4 \equiv \begin{bmatrix} z_1 \\ z_2 \\ z_3 \\ z_4 \end{bmatrix}$ satisfies the IVP

$$\bar{z}'(x) = \begin{bmatrix} \bar{z}_2(x) \\ \bar{z}_1'(x) + \bar{z}_3'(x) \\ \bar{z}_1(x) + \bar{z}_3(x) \\ (\bar{z}_1(x) + \bar{z}_2(x) + \bar{z}_3(x))^2 \end{bmatrix} = f(x, \bar{z}), \quad \bar{z}(0) = \begin{bmatrix} 1 \\ 1 \\ 2 \\ 0 \end{bmatrix}$$

can apply any ODE solver and plot $\bar{z}(x)$

$$4) a) k_1 = f(x_0, y_0) = \lambda y_0$$

$$(5) k_2 = f(x_0 + h, y_0 + h k_1) = \lambda [y_0 + h \lambda y_0] = \lambda (1 + h\lambda) y_0$$

b) inductive hypothesis $k_r = \lambda p_{r-1}(h\lambda) y_0$ for $r=1, 2, \dots$

true for base case $r=1$ since as in a)

$$k_1 \text{ always} = \lambda y_0 = \lambda p_0(h\lambda) y_0$$

where p_0 is a polynomial of degree $0 \equiv 1$

10 assume for $r > 1$ $r \leq n$ and ind hyp is satisfied

for $i < r$, i.e. for $i < r$, $k_i = \lambda p_{i-1}(h\lambda) y_0$

$$\text{then } k_r = f(x_0 + h, y_0 + h \sum_{j=1}^{r-1} p_{j-1}(h\lambda) y_0) = \lambda (y_0 + h \sum_{j=1}^{r-1} p_{j-1}(h\lambda) y_0)$$

$$\text{but for } j < r \quad k_j = \lambda p_{j-1}(h\lambda) y_0$$

$$\text{so } k_r = \lambda (y_0 + h \sum_{j=1}^{r-1} \lambda p_{j-1}(h\lambda) y_0)$$

$$= \lambda \left(1 + \sum_{j=1}^{r-1} (h\lambda) p_{j-1}(h\lambda) \right) y_0$$

$$= \lambda p_j^{(h\lambda)} y_0$$

Q.E.D

(5) c) True local solute $y(x_i) = e^{h\lambda} y_0$

$$y_1 = y_0 + h \sum_{r=1}^1 \omega_r k_r = y_0 + \sum_{r=1}^1 (h\lambda) p_{r-1}(h\lambda) y_0$$

$$= (1 + p_0^{(h\lambda)}) y_0 = p_1^{(h\lambda)} y_0$$

$$LE = O(h^{p+1}) = (e^{h\lambda} - p_0^{(h\lambda)}) = O(h^{p+1})$$

$$LE = (e^{h\lambda} - p_0(h\lambda)) y_0 = O(h^{s+1})$$

which means that $p_0(h\lambda)$ must
equal $\sum_{j=0}^s \frac{(h\lambda)^j}{j!}$!

Note this question is not easy and

I did not expect anyone to give a

complete solution. W. E.